
SAP ABAP table OIIOTWSIWK {BDRP-OTWS: Operations time window set index - plant}

OIIOTWSIWK

MANDT [CLNT (3)]

WERKS [CHAR (4)]

TWSTYP [CHAR (2)]

TWVRS [NUMC (3)]

TWSNR [CHAR (20)]

OTWSRS [CHAR (3)]

TWSFC [CHAR (2)]

OIIOTWSK

MANDT [CLNT (3)]

TWSNR [CHAR (20)]

 OIIOTWSIWK-TWSNR = OIIOTWSK-TWSNR 
0..N

1

OIIOTWSRS

MANDT [CLNT (3)]

OTWSRS [CHAR (3)]
 OIIOTWSIWK-OTWSRS = OIIOTWSRS-OTWSRS 

0..N

1

OIIOTWST

MANDT [CLNT (3)]

TWSTYP [CHAR (2)]

 OIIOTWSIWK-TWSTYP = OIIOTWST-TWSTYP 
0..N

1

T000

MANDT [CLNT (3)]

 OIIOTWSIWK-MANDT = T000-MANDT 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 OIIOTWSIWK-WERKS = T001W-WERKS 

0..N

1

TFACD

IDENT [CHAR (2)]

 OIIOTWSIWK-TWSFC = TFACD-IDENT 

0..N

1


